= o
A & 0l & AF 2 E A A
20179 & =S0lah LB &
R PPN = RSy
gz ZIddH2e
Hel: SFEE dzel (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AHXI e & 0t 7,573,799 7,693,718 A 119,919
= 41,190
Al 3,248,243
- 4,284,366
S A2 91,483 0 91,483
SE& d2el 91,483 0 91,483
&2t 91,483 0 91,483
308 XXIEHH SOl A 91,483 0 91,483
MOIIERES 91,483 0 91,483
O&E=SAXN&EEAEHIZH 91,483,000 91,483
ALHFA L5t 1,455,717 2,501,468 A 1,045,751
= 1,000
Al 36,760
- 1,417,957
UXHEE S 1,357,717 2,401,468 A 1,043,751
= 1,000
Al 36,760
- 1,319,957
sarael 8,560 8,560 0
202 (44l 6,160 6,160 0
01 S LHOIYI 6,160 6,160 0
OsggR=a 0l
20,000 221 x30 L *80%< & 2> 960
OAt2l M &R F& I
20,0003 121 +652 x80%<E 2> 1,040
OSHEX NI HEL R0
20,0003 421 x652 x80%<E 2> 4,160
204 HR=HAH| 2,400 2,400 0
03 SHY=RAHI 2,400 2,400 0
OEsEEEEsRE 100,000& 221 x12& 2,400
MOIEXNEXNEHEES 53,520 34,360 19,160
Al 26,760
- 26,760
301 LA F 53,520 34,360 19,160
Al 26,760
- 26,760
02 ¥et=stit= 53,520 34,360 19,160
OMOIEXNE XA EHES 2 53,520,000& 53,520
Al 26,760
T 26,760
QIZICHH Bd&s X3 337,413 298,844 38,569
201 Let24E] 49,624 51,281 A 1,657
01 At 2t 2l 15,504 17,161 AN 1,657
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CEB P (3H) - NRAY - B ofl &t o SSa HDE2
Ogst=2H| 14,294
— O EEHEOM 15,000 x70021 *80%<& 2+> 8,400
— E Y SE2ZALTH 50,000& 8321 x80%< & 2> 3,320
—SEINFVMS 5,000& *3605 *80%<& 2> 1,440
—HSHEHXNZOMS 1,134,000& 1,134
O2g4+d 1,210
— FUSEHPNOAAS ALY
70,000& *621 *23] 840
—SENsSLATY 370,000 370
=328l 14,120 14,120 0
OZ2Z22=22 Al 14,120
—SAHCHAMNEE I I 40,000& *353¢Q! 14,120
HALE S HI 20,000 20,000 0
oggotatdiol24g9 20,000, 000& 20,000
QEtg A2 115,401 87,755 27,646
dst2UsHR 3 24,718 24,718 0
OFsZ2UsNS 24,718
~EINEESD
700,200& *353921 x 10%*23| *50%<& 2+> 24,718
A28 &g X 36,250 36,250 0
Ot = A 2| 50,000 x15JH CH = 12& 9,000
O=&X&7 XYl 50,000& 15 CH = 12& 9,000
OO0kAlH| 2,500 *221 %300 *15JH CH *50% 11,250
odisgdiuadgyl 500, 000& x7JH CH =23 7,000
SHALAHIE A2 27,793 26,787 1,006
OS&HEHdAXAS 10,000, 000& 10,000
Os&uUaH A 7,000& 35391 2,471
OX=ZMOISXN =AU &IOS A
87,400& %2721 x13| 2,360
ONdZHIZ2HADI W &IOS A
87,400& 1821 13| 1,574
OMOI2sdn= 9,288
— 4| 157 ,000& *389! 5,966
-0 i 87,400& 389! 3,322
O=x2A 20X SALAE A
7,000 x10Q1 %30 2,100
JIEIE &2 26,640 0 26,640
OUSIHIES AT 2 ALEE 26,640,000& 26,640
oIz2tol & 172,388 159,808 12,580
DI2tAMAIE E X 91,750 79,170 12,580
OWE 2 MOI=S 3l AFS HI 47,900, 000& 47,900
OttEAHAII2sUHE RS2 S AISHI
25,950, 000& 25,950
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R PPN = RSy
A KNS
Sl AP CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— AES Xl 1,991 x1,363.47m 2,715
SHFMAtzte] 7,291 22,291 A 15,000
201 Lt 7,291 22,291 A 15,000
02 =224l 7,291 7,291 0
O=Z223<LHA 6,100
—33EMSIEZ=SHA SN S YI 6,100
=== 400,000 * 1400 & 5,600
DI A== 100, 000& *53| 500
OAE ZHI S X 1,191
—BRMAMASRNH(RLESH A
4,030& *295.34m 1,191
StEAML M 3,300 3,300 0
201 LBt 3,300 3,300 0
01 At 22l 3,300 3,300 0
Oget=&H| 1,200
—SDEHDEOLAHAS RS
1,500,000& »80%<&E 2> 1,200
O 2g=¢ 2,100
—SDEAYHMY G AALY
70,000& »15Q1 %23 2,100
=OICIHHN E2sSstEEL 143,597 22,560 121,037
201 Let24] 96,497 10,560 85,937
01 At 22l 84,878 10,560 74,318
O el 84,878
—A0IEEsEEHEESHA
1,000,000 63| *80%< & 2+ > 4,800
—PHEEIHER SN
1,000,000 53| x80%< & 2+ > 4,000
—Z8IEFIHNE
10,000& 25001 *80%< & 2> 2,000
—ZEIIZH=IIMEH
4,500 *955 I x80%< & &> 3,438
—FEEESHH 43,040
B U D1 M &
20,0003 *1,03001 x23| x80%< & 2> 32,960
S0t &
55,0003 *200H1 x62| *B0%<E 2> 5,280
eI2HHAES
300& 5,000 42| *B0%<E 2> 4,800
— =129l 13,200, 000& 14! 13,200
— 222 MHMEESHH(Z 4, NSS)
14,400, 000& 14! 14,400
02 2324l 11,619 0 11,619
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SH: R D
HE: X Ys

M. o (BH) - HSAY - BAS il HDS2
O3322LHA 4,119
—AHOISTVAIE & 8,800 x39CH x12& 4,119
OAlI& &Yl K XYl 7,500
— Z &I B4t 10, 000& *5500H *80%< & 2> 4,400
— 3B XS A ]
2,000,000& =14 x80%< & 2> 1,600
— 8E I XM S X gl 1,500,000& * 14! 1,500
301 dEtE A= 30,000 12,000 18,000
11 IIEtE A2 30,000 12,000 18,000
ORUHFXZLHZIASE 1,000,000 » 14 1,000
Os2z2JIMd Nz 24,000,000& *14] 24,000
OSNSO| Il E & (] X} 2 At 5,000,000& * 14 5,000
405 XtabF SHI 17,100 0 17,100
01 AL 2B F SHI 17,100 0 17,100
OFIA4EBIEHH 2L 2,800,000& x 14 2,800
OZ3lolasstEd(0lZ2e0I )7L
3,000,000& * 14 3,000
OgAMsAT7RU(Z3 9
4,000,000 =14 4,000
OofFAZT 2 (2 H) 3,500,000& x 14! 3,500
OGAEHI 2 (AG24l) 3,000,000& * 14 3,000
OUHZLHHALR (LA 800,000& 14! 800
FOIXX & &S 225 5,000 5,000 0
201 et A b 3,000 5,000 A 2,000
03 HALS H b 3,000 5,000 A 2,000
OFUXNX IR ASEHI 3,000,000 3,000
301 dEtE A= 2,000 0 2,000
09 HAIAH EA=S 2,000 0 2,000
OFUNX RIS A & 2,000,000& 2,000
~28MgE 2< 10,808 0 10,808
201 LEt2 Y| 7,688 0 7,688
01 AP 22l Yl 2,688 0 2,688
OZ &l 2,688
— FOASALEFASIZ ALY
7,000& 1202 +80%< & 2> 2,688
03 SHAIS H I 5,000 0 5,000
ORURASEZZ NS 5,000,000& x13] 5,000
202 04| 3,120 0 3,120
01 2L Y| 3,120 0 3,120
O=2WA bl 3,120
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AN A2t
AXHEFAE (&)
= d =
CHB - BI(BH) - NN - B 0l &t o il HImEET
—Z0ie+BEE0]
20,0003 32! «652 «80%<E 2> 3,120
SEMN BE 98,000 100,000 A 2,000
SHASsEAL 2X01 98,000 100,000 A 2,000
401 AIEHI L 2CHEI 98,000 100,000 A 2,000
T AIZHI 98,000 100,000 A 2,000
OUEXNSHARXI Y (13XH2) 98,000
— ZM:2 8180 D AHEH:2,086, = 2l 198,
& =:634 98,000, 000& 98,000
do &3t 1,044,558 949,959 94,599
= 10,788
T 1,033,770
234l 1,044,558 949,959 94,599
= 10,788
- 1,033,770
SHHUHSHA A=K 13,109 17,714 A 4,605
= 3,018
- 10,091
201 £B-2%H| 13,109 17,714 A 4,605
= 3,018
- 10,091
1T AFR 22|l 13,109 17,714 A 4,605
OMot=E2HAZSEH L XNZ 13,108,230& 13,109
= 3,018
- 10,091
SJlgt = ZHl wHX3 31,225 31,225 0
= 7,770
T 23,455
201 L2l 31,225 31,225 0
= 7,770
T 23,455
01 At 2t 2l 31,225 31,225 0
OBSIEBANAB S ZH WA EH S XZ
31,224,720& 31,225
= 7,770
T 23,455
o HZFE D& 2 165,243 141,552 13,691
201 Let24E] 1,320 1,320 0
02 =224l 1,320 1,320 0
OMSSS0E SR RE =
2,200,000 =4I Al 2 & 15% 1,320
308 XX EHSOIA 103,630 103,439 191
10 B2 S0 B&H A 103,630 103,439 191
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R PPN = RSy
I dN7Ee Dk3

CHe: 3B SAl2e (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMsSa#HEANAENHEAQAIRYE
6,616,000 6,616
ONZPHRHBEINY  HHSHYSAAY
SN2 95,293,000 95,293
OANZFMAHERA A 2AY| 1,721,000 1,721
405 KHoHFE S HI 50,293 0 50,293
01 XA E B F S| 50,293 0 50,293
OYR2ANAHEHEESE2LEAIAEE
50,293,000 x 1Al 50,293
HE MG X & 217,664 98,961 118,703
201 LBt Y| 91,354 92,201 N84T
01 AP 22| d| 91,354 92,201 N 847
Ogbt4=24| 78,202
—Z2HEYH,A2E TAPESE 2 Y
3,600,000 * 1A x80%< & 2> 2,880
— AESI2AHAIA RN M =S L2
L0000 708 #2353 x80%< & 24> 672
—dEBSlNEEMDHPL
7,000 *500 *80%< & 2> 2,800
—¥HYLES/NTY 70,650
BAZZ )P (MNHELPCE)
21,000,000 x80%< & 2> 16,800
A22S/W(et=2S)
67,312,000 x80%< & 2> 53,850
—sessIlARETY
1,500,000 *80%< & 2> 1,200
O 9,792
—dABSFUNFALAIS
51,000 %242 Xt %108 *80%< & 2> 9,792
O=&H| 3,360
—FPHARFASIZ A
7,000 #5001 x 120 »80%< & 2> 3,360
202 o4 | 4,960 4,960 0
01 2L I 4,960 4,960 0
SEEE-EES
20,000 & 501 x62 2 *80%< & 2> 4,960
301 et A= 600 1,800 AN 1,200
09 HAIAHI EAZ 600 1,800 A 1,200
OSNSHMEZH EZ=S2% | 10,000 *30Q2! 23] 600
405 XHAHF S HI 120,750 0 120,750
01 XAt 2 ZF S| 120,750 0 120,750
OL=&aZFHuUAH 1,170,000& =100CH 117,000
OLEES2ZEHTY 1,250,000 =3CH 3,750
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2N

Hu: MXPZ DTa
el BE SRR CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
EHOIX 29 39,650 68,286 728,636
201 YBt2 | 39,650 68,286 728,636
01 AbR 22l 7,150 0 7,150
O SENWME2ELIY0IS 7,150,000 7,150
02 23S 32,500 68,286 735,786
OzZZIYHA 718
~EHOINCHOIANER 124,000 #11 124
—EHOINAYASABLLE
594,000 * 1 594
ON&ZHISX bl 31,782
~EHOXSNE+
224,971,000 *8%+45, 600, 0002 4/ 12+8% 19,214
— SHYISHELEH S B R
10,000,0002! 0,000
~BHENGCMHBSMRX B4
32,100, 00021 8% 2,568
supe 443,478 390, 168 53,310
101 21248 3,670 0 3,670
04 JAHIERSE S 3,670 0 13,670
OYA A QI (KstDete)
(1,352,2302+166,6452 ) *97H 2 3,670
201 2Bt | 345,584 345,200 384
01 AlR 22l gl 9,648 9,264 384
OB+ gl 6,960
~ HEHSENALLDETY
1,600,000 *43| *80%<E 24> 5,120
—BHESH SO
5502 1,000 23] «B0%< 2> 880
-~ HESUANSTEANSHBYLDE 7
600, 0002 *23| *B0%< = 2> 960
ozl 2,688
—sMggHRERS2ZAY
7,000 401+ 1202 +80%<Z 24> 2,688
02 23Sl 335,936 335,936 0
OzZZIYHA 330,436
—2FBENY - DSLA M AER
(28 AgL,S) 206,266
17,188,78021 « 128
~0ISHEANEE 20,0002 * 128 2,400
~HE3MANEE 935,000% * 122 1,220
—usEsE 7,600,0002 * 122 91,200
—$HHABHSH M OOIHAMEEE M 1,350
HYMSHESHBEH 50,0002 103 & 500
HOIESI M &S5 8 850,000 15l & 850
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EAREPAPNE= RS0
I dN7Ee Dk3

el MR EABR (el @2)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— SMSAIE 2 1,500,000 x12& 18,000
OAl& ZHl KXY 5,500
— HAS A S A2 5,500,000 x 1Al 5,500
202 04d| 3,968 3,968 0
01 2Ll 3,968 3,968 0
O=W0H bl 3,968
LT
20,0003 401 62 2 *80%< & 2> 3,968
405 XH&HF S HI 80,256 41,000 39,256
01 AL 2 FF S| 80,256 41,000 39,256
OIPS(& XAl AEN) W 35,000,000 = 1CH 35,000
OlIP&e|AlAE R 45,256,000 * 14! 45,256
MNETHAIAE 2H 8,712 42,853 AN34,141
201 et 1,712 2,853 A1, 141
02 232%H4| 1,712 2,853 A1, 141
OAl&E ZHI KX Y| 1,712
— 8 XZTHS/WES X E 5,705,000 *30% 1,712
308 XAHXIGHH SO0l & 7,000 12,000 25,000
10 2| 2SHUSHE A X HE A H] 7,000 12,000 5,000
O2-LIctAlAE A2 7,000,000& 7,000
HEMBANAHESIE 135,477 159, 200 N23,723
201 et 9| 135,477 159, 200 N23,723
02 2324 135,477 159,200 N23,723
OAl&E ZHI KXY 135,477
— ANHYUBHAA A SIS 4 48,313,583 48,314
— SEEESAMNYFNNES
(292,660,904 x7%/ 122 )*10& 17,072
— 1011& St W E A AE ST E4H|
(369,985 072':’J *5%/12%) 0= 15,417
—PoEHRIES
9,460, 115”1 +12,466,340& 21,927
—#HARBPCR N 2%
(522,766,233 x5%/12& )x10& 21,782
—2HMEAEI(PS) L2 SISAE
(89,212,300 x7%/12& ) » Oé 5,205
—HAHAL22PCAREES 22| H|
600,000 128 x80%< & 2> 5,760
WEMEIH 4,618,789 3,949,469 669, 320
Al 3,157,296
- 1,461,493
WREHIMNS 4,618,789 3,949,469 669, 320
Al 3,157,296
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2N

X{ XH -
S =

Xl ot
wEMHIXA

&S NsEFMA (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 1,461,493
WEZH X 4,617,189 3,943,029 674,160
Al 3,157,296
- 1,459,893
201 LB-2d| 1,190 1,190 0
01 At 2t 2l 1,190 1,190 0
Oo2g+¢ 1,190
—SDSATNANIAAE BH LY 1,190
s 70,000& +7Q1 x23] 980
= It 30,000& x7Q1+13] 210
308 MtXIEHMSOIH 4,615,999 3,941,839 674,160
Al 3,157,296
T 1,458,703
08 WSEII20HetE = 4,615,999 3,941,839 674,160
OS4+=EUSABS TS ANEY X
599,724,000 599,724
Al 479,779
- 119,945
Ot RAZAX R (=1-6) 3,253,323,000& 3,253,323
Al 2,168,882
T 1,084,441
OtnRazg AR (E3) 762,952,000 762,952
Al 508,635
- 254,317
e n=sgs N 1,600 6,440 A 4,840
201 Let2d] 1,600 6,440 A 4,840
01 AP 2teltl 1,600 6,440 A 4,840
OB+t 1,600
— NI HNEESEEME
2,000,000& »80%<& 2> 1,600
A& S Al 182,966 162,850 20,116
= 29,402
Al 54,187
- 99,377
S AL 2H 35 182,966 162,850 20,116
= 29,402
Al 54,187
- 99,377
G SA2E R 124,162 103, 100 21,062
Al 50,000
- 74,162
307 21201 A 124,162 103, 100 21,062
Al 50,000
- 74,162
02 It S AHE L 47,800 40,000 7,800

_40_




2N

X{ XH -
S =

PR
A& S A

S UHSA 2HS (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O SAHHEH &L 3K & 47,800,000& 47,800
Al 35,000
- 12,800
03 A EE2LHIES 76,362 63,100 13,262
OXESAHEH 2 I 76,362,000 76,362
Al 15,000
T 61,362
A SAF 2C0UO0IH XN& =4 42,056 41,218 838
= 21,028
= 21,028
307 gl2tol & 42,056 41,218 838
2 21,028
- 21,028
02 IZtE M AHE L 42,056 41,218 838
OX& S A2 CIUIOIE XI & (201) 42,056,000 42,056
= 21,028
- 21,028
NASAEE Ot AHIA X2 16,748 18,532 N1,784
2 8,374
Al 4,187
T 4,187
307 glz2+ol & 16,748 18,532 N1,784
2 8,374
Al 4,187
T 4,187
02 HAFHAANHEEE 16,748 18,532 A1,784
OXES A& HEE LY 16,748,000& 16,748
2 8,374
Al 4,187
- 4,187
AL A (XX A D) 180,286 129,972 50,314
el 2 138,693 91,517 47,176
ol 2| 138,693 91,517 47,176
101 14l 138,693 91,517 47,176
01 2= 79,228 63,299 15,929
OAlZte 284
9,649% #2301 x35A| 2F* 123 x85%< & 2> 79,228
03 RIAHAZ 22 = 59,465 28,218 31,247
O SAZ2S(HER/29) 59,465
= 1,215,310& 201« 12& 29,168
— o0z 1,215,310& »2Q1 x400% 9,723
—ANZZR=Y 9,915 %1.5%201 x180Al 2t 5,355
— QXS IN2ZE2E 9,915 #8A1 2H#201%20L 3,173
—JIEE 1,200




AN XX HE D
M HE2G Y (KX E )
Sl ol ) CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
- i Xt 40,0003 201128 960
- JIE 20,0003 x11«12& 240
— Sl 130,000& »2Q1x12& 3,120
— Sl 140,000& 221 128 3,360
— e 30,000& 201128 720
— B2 S0td| 1,215,310& 201 +75%*2 3| 3,646
D] 41,593 38,455 3,138
JlE2&l 41,593 38,455 3,138
201 et 33,794 31,816 1,978
01 At 22l 29,594 27,616 1,978
Ogpt=&H| 20,224
—dH=F NI
12,0003 * 1,200 x80%< & 2> 11,520
—RA2IE+=2HI 10,880,000 & *80%<& 2> 8,704
O=gtl 7,930
—dE - IXNPRFHIEZSAHI
7,000& 721 x120 L *BO%<E 2> 4,704
—PARIYERFIEZ =S4
7,000 #2401 +24 2 +80%< E 2> 3,226
Ogxtz 1,440
—dA=AIIE X 120,000& = 1CH 128 1,440
02 8323l 4,200 4,200 0
O&EZIANE - 2 FEEEASRES
(SE2REI L) 4,200,000 4,200
202 odl 3,599 3,279 320
01 = LH o4 1l 3,599 3,279 320
ONXNEZFHR =T
87,4003 #4021 x32 x23] 80%< & 2> 1,679
ORN2ELRZ=THH
20,000 2401 x5 x80%<H 2> 1,920
203 R Z Y| 4,200 3,360 840
04 FN2ILSFAH 4,200 3,360 840
ORA2EIRFEHI 350,000& 122 4,200

_42_




